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QUESTION 1
Which one of the following options is CORRECT about DB2 pureScale feature?
A. DB2 pureScale is only available for DB2 Express-C and DB2 Advanced Enterprise Edition.

B. DB2 pureScale uses the same concept of HADR where the data is replicated from a primary database to a standby
database.

C. DB2 pureScale persists data in the cluster caching facilities (CFs).

D. DB2 pureScale reduces the risk and cost associated with growing your distributed database solution by providing
extreme capacity and application transparency.

Correct Answer: D

QUESTION 2

Consider the scenario of a DB2 pureScale environment with two DB2 members, and assume there is an active
connection to "member 3". Due to some maintenance emergency, "'member 3" needs to be stopped. Which one of the
following commands will stop "member 3"?

A. db2stop force member 3

B. db2stop immediate member 3

C. db2stop node 3 all members

D. db2stop member 3

Correct Answer: A

QUESTION 3
Which one of the following options is correct about DB2 pureScale installation?

A. A single setup image is required for installing both members and cluster caching facilities. The DB2 pureScale Setup
Wizard must be invoked on each host to install all of the components of the DB2 pureScale feature.

B. Different setup images are required for for installing both members and cluster caching facilities. An invocation of the
Setup Wizard is required to install all of the DB2 Members of the DB2 pureScale feature. Another invocation of the
Setup Wizard is required to install all of the Cluster Caching Facilities.

C. A single setup image is required for installing both members and cluster caching facilities. A single invocation of the
Setup Wizard from the installation-initiating host installs all of the components of the DB2 pureScale feature across all
hosts that you specify as part of the DB2 pureScale environment.

D. Different setup images are required for installing both members and cluster caching facilities. The DB2 pureScale
Setup Wizard must be invoked on each host to install all of the components of the DB2 pureScale feature.

Correct Answer: C
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QUESTION 4

Which of the following options is TRUE about the Row and Column Access Control (RCAC) feature?

A. Users with DATAACCESS authority are exempt from the Row and Column Access Control rules.

B. Table data is protected against direct access to the table. Access using views is unrestricted.

C. In order to take advantage of this feature, applications must be changed to work with the RCAC feature.

D. Row and column level access control allows the creation of column masks that can control what column values a
user is permitted to see.

Correct Answer: D

QUESTION 5
Which one of the following options is FALSE about DB2\\'s Multi-Temperature Data Storage capability?
A. You can use storage groups to implement multi-temperature data management in DB2.

B. Multi-temperature data management reduces the total cost of ownership by allowing efficient deployment of storage
hardware with minimal administrative overhead.

C. Multi-temperature data management integrates with DB2\\'s Workload Manager feature to let you prioritize your
workloads based on the data being accessed.

D. Multi-temperature data management best practices recommend that cold data should be stored in faster devices in
order to maximize overall system performance.

Correct Answer: D
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